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. (20%) Consider the following system with impulse response h(t).

of PCY [y,

How does y(t) relateto u(t)?
Let L denote the Laplace transform and L{f(t)}= F(s). Show that Y(s)=H(s)-U(s).

. (20%) Consider the following system block diagram and determine the transfer function
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3. (20%) Given the characteristic polynomial of a system as s*+7s%+25s+39. Determine
whether its roots are in the open left hand side of s =-1?

4. (20%) Draw the root locus of the following system including the departure angles and
Imaginary axis crossing points.
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5. (20%) Draw the Nyquist plot of the following system and determine the range of K such
that the system is stable.
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